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RED SWASTIKA SCHOOL

2023 PRELIMINARY ASSESSMENT -

- MATHEMATICS
PAPER 1

Name : { }

Class : Primary 617

Date :18 August 2023

BOOKLET A

15 Questions
20 Marks
Duration of Paper 1 {Booklets A & B): 1 hour

Note:

. Do not open this Booklet until you are toid to do so,

2. Read carefully the instruciions given at the beginning
of each part of the Bookdet.

3. Do not waste time. I a question is difficult for you,

- go'on to the next one.

4. Check your answers thoroughly and make sure you
altempl every guestion.

5. in this booklet, you should have the following:
{2)Page 1toPage 5
{b} Questions 4 io 15

8. You are not allowed to use a caloulator.




BP~812



BP-813

Questions-1 1o 10 camy 1 mark each. Questions 11 1o 15 camy 2 marks each.
For. each: quesnon four options are given: One of them is the comect answer.
Make your choice {1, 2, 3 or 4). Shade the correct oval {1, 2, 3or 4) on the
Optical Answer Sheet. {20 marks)

1 70000+ 2000 +300+8 =

(1 72380
2 72308
() 72038
4) 70238

2 Round 769 481 1o the nearest thousand.

(1) 769000
2) 769480
(® 768500

4y 770000

1 .
3 Express 9'5 as a decimal.

(1) 9.1
@ 92
3) 9.02
@ 915

4 The diagram shows a cup of milo sold in 2 school centeen.

Which of the following could be the volume of the milo sold in the cup?

{1) 20mi

@ 201 .
(3) 200mi

@) 2001




[+2]

Mrs Tan bought 16 apples, 10 oranges and 2 watermelons. What was
the ratio of the total number of apples and watermelons 1o the number
of oranges?

(1) 5:
(2) 5:
(3) 9:5
4) 14:5

9
14

The figure is made up of two triangles, PQR and STU.

\j \,

WWhich two lines in the figure are perpendicular o each other?

| (1) PQandTS

(2) PRand RQ
(3) USand SR
{4) UTand 7S

Win
g
D s
~

What is the vajus of

8
) 35

ooy

{2)

(3 1

Uil

8) 13

oo~
-
-

¢}
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11

Which decimal is greater than 8.87 but smaller than 0.157
1 0.3
(2) o9

(3) 0.0t
(4) 019

Find the value of §Q_~§—_ZQ when p =
27
34
54
58

The table shows the number of points scored by different gyoups of
students in a quiz. .

w
R-9

Number of poinis scored 0 1 2
"~ Numberofgroups | 2 3 4

(4}
N

How many groups scored &t least two poinis?

(1 5
2) 7 -
3) 9

4 1

The table shows the height of different planis, W, X, Y and Z grown in
a room over 2 moni’h

Plant Height of plant at the Height of plant at-the .
steri ofthe month, . | end of the month
kil 110 om , 127 cm
X 118 om i 131 om
Y 119 cm \ 132 em
yd 118 om ; 129 cmi

Which plant has the greatest increase in height?

(h W
2y X s .
@) Y
4y z

BP-815
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13

Kamie is standing at X facing north.

i

Kamie tums {hrough an angle of 135°inan ahﬁ—ciockmse direction,
1 . L . . .

foliowed by - tum in the clockwise direction. Which point will Kamie

be facing?

(M
(2)
(3)
(4)

T O Wy

The usual price of a study leble was $300. Duning a sale, Mrs Kumar
bought 2 such study ables at a discount of 60%. How much was the
total discount?

(1) $120
2) $180
(3) _$240
{4) ~ 3360

4
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14 Figure 1 is formed using four identical squares. The perimeter of Figure 1
is 80 em. Another three identical squares were added to Figure 1 1o form
Figure 2.

Figure 1 Figure 2

Find the penmeter of Figure 2.

)] 120 cm
(2) 128 cm
{3) 138 cm
(4) 140 cm

15 Xavier planned to save $21 using his pockel money. The table below
shows his saving plan for his weekly pockel money from donday to

Friday.
Day Ameunt saved
Monday 50¢ :
Tussday ; 50 ¢
Wednesday 80 ¢
Thursday 80 ¢
Friday i 80e¢ .

Xavier started to save on g Friday. On which day of the week did Xavier
managed to save exaclly $217?

(1) Monday

(2) Tuesday

(3) Wednesday
{4) Thursday

BP-~817
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Questions 16 1o 20 carry 1 mark sach. Write your answers in the spaces

provided. For guestions which require ‘units, give your answers in the unis
stated. ’ - {5 marks)

16 Write two hundred angd five thousand and three in numerals.

Ans:
17 Find the value of 80— 20 - 2 + 4.
Ans:
] 2
18 Find the value of 3 x 18.
Ans.

»...,..-_....._.._,})
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18 Find the value of 5 = 8. Express your answer as a decimal.

Ans:

20 Simplify 205+ 5r+ 7 -1,

\
At




Questions 21 to 30 carry 2 marks each. Show your workings cleariy in the space
provided for each question and write your answers in the spaces provided. For

guestions which require unils, give your answers in the uniis stated.
{20 marks)

213 Write an algebraic expression for the following.

{a) Subtract 15 from k.

Ans: (3) M

(b) Jane typed 45 words in n'mindes Express the number of words she
‘ can type in 1 minute interms of n.

Ans: {b) i1l

22 Five Jetters, T, E, A, M and 8 are drawn on a square grid.

SV I S5 N
i A A

A 4 R
[ (Wi T T
AR, : i AR
' 3 i :
L SR S _ . o
1Y s ;- T -
Y Y A T i1
:\;:?";-Vzg‘y;sz,i;:\:\
AR UL AEIN T T :

{2) How many of the lelter{s) has / have 2 line of symmetry?

Ans: (3)__ T

{b) Whi_c_h letter{s) hasf have both parallel and perpendicular lines?

Ans: {b) {1

BP-822



23 The net drawn for the solid shown below is incorrect.

Solid Neat

{a) Name the solid.

Ans: {a) {1

{b) Shade a triangular face on the net that does not it the net of the
solid. ]

24 The table below shows the Himing of the movie XYZ shown in a cinema.

Timing for movie XYZ

11.15 a.m.
2.30 p.m.
4.30 p.m.
7.15p.m.
10.30 p.m.

{a) The duration of the movie is 2 h 10 mins. What time will the last
sereening of the movie XYZ end? Express your answer using the 24-
houwr clock.

Ans: {a) 13

{b) Wendy arrived al the cinema at 11.45 a.m. How long must she wait
for the next screening of movie XYZ? Give your answer in h and min.

Ans: (b) h__ min [

N
AN
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Use the information below o answer Quesiions 25 and-26. _
The pie chart below shows the different ways a group of siudents go 1o school.
The number of students who travel 1o school by car and MRT are represented in

the bar graph.

250
» 200
=
D
E
5 150
RS
h:
E 100 -
=3
d
50
-0

Car MRT

25  How many students walk o schooil? -

Ans:

26  How many students irave! o school by bus?

Ans:

et st

10
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27 Machine A prints 10 pages more than Machine B every minule. Machine
C prints half as fast as Machine A. The three machines print a fotal of 270
pages in 3 minules. At this rate, how many pages does Machine C print
in 1 mimar?

Ans:

o

28  The figure ABGD is formed by two different squares and two identical

recitangles. The area of the small square is -} the area of the big square.

A

D F C

{a} What fraction of EBCF is shaded?

Ans: {a) [i]

{b) What fraction of ABCD is shaded?

* Ans: (b} ’ 113

-
- r_—




29 A group of studenis had.an average of $10. Three siudents with a sum of
$57 }omed the group and the average amoint of each studen! increased
by $3. How many students were there in the group at first?”

30 In the figure, ABC and DEF are right-angled iriangles. The base of iriangle
DEF is twice as long as the base of idangie ABC. The height of inangie
DEF is also iwice as jong asthe height of triangle ABC. The difference in
the area beiween the 2 unshaded parls is 18 o

A F 8 D

Each siatement below is either true, false oF not possible o tell from ihe
information given above. For each statemem, put 2 tick (V) 1o indicate
YOur answer,

Siatement : True | Faise | Notpossible
. . 1o il

The ratio of the length AF 1o the
lengthABis1:2.

The area of inangle DEF is twice the
area of fiangle ABC.

The area of triangle EFD is 24 am?.

4 :
] id i

END OF PAPER

12
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Questions 1 to 5 cany 2 marks each. Show your workings clearly in the space beiow
each qusstion and wiite your answers in the spaces provided. For questions which
require units, give your answers in the unils siated.

{10 marks)

| {a) Write down a¥l the common faciors of 4 and 6.

Ans: (a) {1

_ (b) What is the largest common multiple of 4 and 6 thal is smaller than
507 . -

Ans: {b) _ n

2 dMrs Davi had 2.5 m of ribbon at first. She used 8 cm of it.

{a) Find the length of ribbon she had lefl in metres.

Ans:{a) . mi}

{b) Mrs Devi then cut the remaining length of the ribbon inlo two equal -
pieces. Find the length of each piece of the ritbon in centimetres.

. Ansi{p) cm )

BP~829




- In the circle below, O is the centre and AOB is a straight line.
C

A

e

D

{a) Measure and write down the diameter of the circle.

Ans:{a) __cm[}

(b) Using your answer in (@), find the circumference of the Gircle.
Leave your answer interms of n.

Ans: (b) cm {1]

The average of two different 3-digit numbers is 104. Write down one
possible set of values for the two numbers. :

Ans: )

28]
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5 Vinesh has a reclangular piece of paper. He folded it along the dotied

lines without overlapping as shown below.

Before folding

Find 2.

Ans;

After folding

BP-~831




For Questions 6 1o 17, show your workings clearly in the space below each question
and write your answers in the spaces provided. The number of marks available is
shown in brackets [ ] at the end of each question or parl-question.

{45 marks)

B The total mass of three parcels was 13.8 kg. Parcel B was 1.2 kg heavier
than Parcel A while Parcel G was 1.2 kg fighter than Parcel A.

{a) How much heavier was Parcel B than Parcel C?

Ansi{a) | Ml

{b) Find ihe mass of Parcel A

Ans:{b) 23

BP-832
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lan drew a triangle ABX in a square grid as shown below.

7
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8 in the figure, ABCD is a rhombus and AB = AE.

{a) Find £BAEL.

Ans:{a) S 2]
{b) Find ZADE.
’ Ansi(d) ’ 12}
6 4 |
i
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g Jill glued 12 cubes of side 3 om to form a solid as shown below.

Top view
//.;f "
7 | +— Side view

~ ’ &

° -

{1

Front view
{a) Onihe square grid below, draw the iop view of the solid. ]

ST YT T T T T YT,
i ] H H i i ]
3 H H 3 1 i) ¥
atiatad Sl St 2 2ty B |
2 H 3 % 3 1 ]
3 ¥ i 3 1 t }
| S L . Y 5 TURPUIE SRS |
3 3 1 i 3 1
1 1 D
"'—'.y—ﬁ'?—"‘ —_T-a—l
H 3 3 3 13
1 ] 3 ] 3 13
r—--x--——-é——-—-—»-—-i—-——.&-——l
1 3 3 1 ¥
3 3 J r > 1 )
¥ ¥ ¥ } ¥
______ 34 v

(b) Jil painted the whole solid, inciuding Ihe base. How many cuhe(s)
would have only two painted faces?

Ans{b) M

{£} Whatwas ihe toial painled area of the solid?

Ansic) | i3




18 ABC is a triangle, BFC is a straight line and £DEF is a right angle.
A

61°

AL

122°

A58°

{a) Find £BEF.

Ans:a) 2]

{b) Circle the words that describe AED and CDEF correclly in the following
stalernenis:

AED{ fs, ! is not ) an isosceles inangle and AD is equal ié{ AE S ED).

CDEF { is f is not } isairapezivmand ED{ s / is not ) paralleifo FC.

] ]

2
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Atdfirst, 80%: of a tank was filled with water. Chiis tumed on Tap A 1o allow
‘water 1o flow out of the tank. 4 minuies laler, Chns tumed on Tap B lo aliow
waler o flow into the tank. After o while, both taps were then tumed off at
the same tims.

The graph balow shows the amouht of watler in the lank over 12 minutes.

% Tap B
/ w

: SRS 07 30+
=2 . Volume 4
5 in
itres 20

g“}-’f&

el

S

oo

L 10 oo
Tap A 4

(G
i

r}
Feilix

3 v
1 ]
10 12

Time in minuies

N
BN o v m v
(o'~ 1% VURCRU,

0

{2} Find the capacity of the tank in kitres.

;‘—\ns (a) | [1]

{b) How much water RBowed out of the tank fromiapAin 1 m:nute'?

Ans:{b)} 1}

{c) How much-water flowed into the tank from tap B in 1 minule?

: Ansic) _ {23




42  Sam had'a bag of red, biue and green marbles. The ratio of the number of
red maibles to the number of blue marbles was 2 : 1. The. ratio of the
number of blue marbles to the number of green marbles was 5: 3.

{a) What iraction of Sam’s marbles was green?

Ans:{(a) _ {1

{b) Sam removed 4 red marbles and 3 blue marbles from the bag each
fime. After a few rounds, there were 18 red marblés and 1 blue marble
in the bag. How many red marbles were there in ihe bag al first?

Ans:{b) 2]

10
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13 Janice sold 80 cakes in January. in February, she sold 30 more such cakes
than in January,

{a)

(b}

)

What was the perceniage increase in the number of the cakes sold
from January to February?

Ansi{a} . i1

The number of cakes she sold in March was a 100% increase from
what she sold in February. How many cakes were sold in March?

Ans:i{b) i

The number of cakes sold in April was a 40% decrease from what she
sold in January. The iolal number of cakes she sold in April and May
was 200 when rounded off fo the nearest hundred. What was the
greatest possible number of cakes she sold in May?

BP~839
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A markst and a stadium are 240 m apart. They are Jocated between Paul's
and Rani’s houses as shown below. The market is ‘exaclly halbway in
between the two houses.

Paul's Rany's
house Markel! Stadium house
® @—o —
P>
240m

One mormning, Paul and Rani started cycling from their houses at the same

‘time and they arrived at the stadium together. Rani cycled at 100 m /min

while Paul cycled at a speed 15 m/min faster than Rani.

{a) Howmuch i‘urther did Paul cycle than Rani?

Ansi{a) | 113

{b) ,Ho;v for was Rani's house from the stadium?

Ans:i{b) 3]

12

I
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Shermaine used rectangular blocks o form Sgures that follow a pattem as
shown below. The length of each block is 2 om and its breadth is 1 om.

Figure 1 Figﬁre'z Figure 3 Figure 4 Figure 5 Figure 6

{8) The table shows the n@;r;r;be;:of réctangular blocks used for each
figure. Complete the tablefor Figure 7.

Figure Number Numnber of rectangular | Height of Figure
blocks used {h)
1 4 . 4 om
2 7 ! 7 cm
3 13 ; 7 om
4 16 10 om ]
5 18 13 em
. & 23 13cm
7 —_— e cm
M
(b) How many rectangular blocks were used in Figure 1237

Ansi{b) 2}

i
13

BP~841




16 Leon deS)gned a Iogo as shown. “The Jogo is made up of two identical small
semi-circles, a circle and a big guadrant. YZ is the diameter of the circle and
Ois the centre of the circle. X is the centre of the big quadrantand XY = XZ.
The radius of the small semni-circle is 7 cm.

.22
7

(Take )

{a). Find the length ol YZ.

Ans:{a) RE)

{b) Find.ihe area of triangle XYZ.

Ans:{b) {1

{c) Find the lotal area of the shaded parts of Leon’s logo.

Ansi{c) 3}

14 5

K
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37 In abakery, donuis and cupcakes are sold only in boxes. A box of 8 donuis
costs $15 and a box of 5 cupeakes costs $7. Alice and Ben were given a
sum of money o buy donuts and cuptakes from the bakery.”

1 box of 8 donuis 1 box of 5 cupcakes
$15 $7

Adice needed 20 donuls and 3 cupcakes Jor her parly. ARer buying the
donuts and cupcakes from the bakery, Alice passed the rest of the money
to Ben.

(@) Whatwas the least amount of money Alice spend?

Ans:{a) 1]

4
Ben spent 7 of the rest of the money {0 buy donuts and cupcakes {or his

parly and had % of the sum of money lefl.

{b) What fraction of the sum of money did Alice spend?

Ans:(b) 1

{c) How many donuts and cupcakes did Ben buy?

Ans:{c) Donuts:

Cupcakes: 31

END OF PAPER
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Answer

Year:2023
Booklet A
3. 2 2, 1 3. 2 4. 3 5. 3
6. 4 7 2 8. i 9. 2 10. 4
11, 1 12. 3 13. 4 14. 2 15. 4
BooKlet B
16, 205003 i7. =60-106+ 4
=50+4
=54
18, |2, 1812 19. 5+8=0.625
3717 1
=12
20. {(20r+5r4+7-1}) 21, a) {k-15}
={25r+7-r) b) {E) '
={24r+7) ™
22. a) 4 23. |a)pyramid
.| b}Eand M b}
24. a) 0840 25, 220x5=1100
' B) 2k 45min 1300 +- 2 =558
26. 556-220-106 =238 27. 2780-(13106x3)-{5x3)
=240 -15
=225
2+2+1=5
5x3=15
i5+5=20
28. a)AreaofA=2x2x1=1u 29. 10x3=30
2z L 2 27 +3=9
> ok 9-3:=6
321=3
3
b};z—7= £
X4
¥ T: 2 @
3x3=9
2+1+1=9
4
Ans:;
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30.

e § P | P e

Paper 2

a)1,2
b) 48

a)2.42
b} 2.42m = 242cm
242cm ~ 2 =121cm

a}4.5cm
byrx4.5=(45m)

{total) = 104 x 2 =208
pessible — 15t = 1090

204 = 208-100 |-

=108
Ans:100, 108

2x = 180-28-90=62

a)1.2ke + 1.2kg = 2.4kg

b) 3u=13.8kg-(1.2kgx 3)

=10.2kg :
1u=10.2kg +3 = 3.4kg
A=1iu+1.2kg
=3.4kg + 1.2kg = 4.6kg

a) 2ABC =1800 - 800=1000
<ABE=1000 - 290=710
<BAE=1800 - 710 - 710
1:380

b) <EAD = 80 - 380 =420
<ADE = 220722 - 690

10.

2) <ACF = 1800 - 610 - 580
=glo

<ADE = 1800-1220 =580 |

<AED = 1800-610-58¢
=610
<BEF = 1800-610-90¢
=290
b)AED is an isosceles
triangle and AD is equal
to ED.
CDEF is not a trapezitim
and ED is not parallel to
FC.

BP-~846



11 a) 2x100=43.79¢ iz a) Total=10u+5u+3u=18u
8o 3 .
b} 35-206=15 ~1s
15+4=3.75¢
£} 3.75x4 =15 -1
15-10=5 °.
S.4=1257 bjAns: 50
R B
e 5
-5 -3
8ot
e B oy
ax 8 +H HooF o,
a1 9 36 0 &
+» 3L 3t i3
T % @
b
13. a) 30100 = 37.5% 14 3) 240+240=480m
80 Svor e =qE= .
b) Feb = 80 +30 = 110 b) Ti_me—480 +15=32min
110 200 D}Stance—flﬁﬂ x32
March = TooX 7 =220 =3200m
€100 - 40 =56
i1=-30 80 _,
Aprﬂ-mo;x " =48
(biggest) 201 + 48 =249
Ans: 261
x5 a i6. 8) P=7x2=14
Figure Mo ;]ol ofre; {h) Big D=14x2=2 8cm
7 ZGK-USQ 16cm h}Big r=2 8—2': 14
b)123+3=41 5% 14 x 28=196cm?
40 set of 10 i 22 ..
40 x 10 = 400 €} X K77
400+ 13 = 413 =22x7
=154
x28x28 =616
1,22
E+7X14-X14-
=311x2x314 =308
308-154=154
616 - 154 = 462¢cm?
i7. a) 20-+-8=2R4

742523 = $52
1_3 2
b}-==Ans:=

)3 g ABS:3

¢} Donuis: 6x8=48
Cupcakes: Z2x5=180
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